H{t BEE | |HBilm| £% B BE | %= |REM|/REEEE
9H1H|[ATA%&]| 10| 100| 1,000

98108 #&£A 20| 250 5,000f 9H158| F* E 10 200 2,000
98208 #&£A 30/ 400] 12,000 9H258| 7% E 40 320® \ 12,800

9F30H XA 10 320 3,200
B 60 18,000 : 60 |\ 18,000

(AIARES2E+9/10EA£EE)
—(ATABREHE+9/10EAHE)
=(1,000+5,000)+(10+20)=200

(MRS 2EE /10 ALEE—9/15/RIEEEE+9/201L A£2E)
~(RTAESHE+9/10EAHE —9/15R A EEE+9/204E A2
)

=(1,000+5,000—2,000+ 12,000)~(10+20— 10+ 30)
=16,000-50=320

R ARRBIR S8 - R AR
=3

=3,200—--10=320




H{t BEE | |HBilm| £% B BE | %= |REM|/REEEE
9H1H|[ATA%&]| 10| 100| 1,000

9108 f£A 20 250] 5,000 98158| 35EE 10 300 3,000
9H208| {EA 30[ 400] 12,000l 98258]| 35 E 40 300 12,000

98308 [kA#E#[ 10 300! 3,000
B 60 18,000 18 60 |\ 18,000

FTABRESLEE+9/10EALZE+9/20L A £%8)
~(HIABREHE+9/10EA$E+9/20E A )
=(1,000+ 5,000+ 12,000)=(10+ 20+ 30)
=18,000--60=300
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